Run 11544, integration on 12 samples

HG pedestal [ADC]

1.5
4
1'0_ ] ; ... . ® 2
3 }{ @ ..f S o
05-.-$-’°o:‘°*}..°~: 0
. P Yoo .o R .o$
4 vy.*
g | wERESLAAIEN |
~ 0.0' ..‘  § 1 f.‘; .. .‘. & 1
> % 4 L g 4 ] p ® ‘: _4
® » %9 o ® ® ]
ok £ ) ST R’ el
—0.5 :.o e .‘ . 6
o o .. e } .} ° L
[
$.0.’ 2 oo,
—1.0 1 )y 0.. P —8
@
. . —10
—1.51 | EngllneerlngCameraFrlame
-1 0 1
X (m)
HG pedestal std [ADC]
1.51 38
® ©
@
1.0 I e . ‘..-‘, 36
P
o9
0.5 :.& .t... :?\.a.' - 34
' b }o*"’. S 8V
{$-’.3 $ oo 0o 15 ¥ &'g
= A, ;.n‘:‘t 32
= 0.01 #‘?:‘e}f"...*n _;:;&“’.. 3
> ® op
S R e T S 30
O e SOOI o
03] TPt T SN W
- rog i, 28
[ ™9 [ *. e @
b ¢ .o‘ o So
—1.01 x.o’ P
‘. @ 26
~1.5- | | EngilneeringCIameraFrzlame
-1.0 -0.5 0.0 0.5 1.0
X (m)
B HG Median -5.17, std 2.22
100 A
80 A
% 00 -
X
o
40
20 1
O_
-12.5-10.0 -7.5 -5.0 -2.5 0.0 2.5
HG pedestal
BN LG Median -4.62, std 1.78
100 -
80 1
0
¥ 60
o

40 -

20 -

-10 -8 —6 -4 -2
LG pedestal

1.5

1.0

0.5-

y (m)

—0.51

—1.0 1

—1.51

1.5

y (m)

—1.5-

pixels

LG pedestal [ADC]

0.0 -

Oo. :.° %e
g ¢ 8 e
233% % @‘ ¥ 0
® o% e 3 g LR ®
PR T L o PR L
.. ’. .. ® .. ®
® ® % ® % .. ‘
O. e L g .. ~a L]
] @
ssig, ‘a# A Loy 3
] ] @
3 ‘.. :o: {.. "3 s, s t:
< ® .. ..:...O
]
¢ ‘. *n’ f. 0....
.“.O m.r
Y nd
PY @
| EngilneeringCameraFrlame
-1 0 1

X (m)

LG pedestal std [ADC]

EngineeringCameraFrame

~1.0

_05 0.0 05 1.0
x (m)

32

30

28

26

24

22

20

O_
25.0 27.5

B Median 30.30, std 2.88

30.0 325 35.0 37.5
HG pedestal std
100 A Bl Median 23.63, std 3.03

pixels

20.0

22.5 25.0 27.5
LG pedestal std

30.0

32.5



600

550 1

counts [ADC]

w N N Ul
Ul o (O] o
o o o o

w
o
o

250 1

200

600

550 1

counts [ADC]

w I N Ul
(0] ] o (O] o
o o o (@]

w
o
o

250 1

200

600

550 1

counts [ADC]

w N I Ul
Ul o (0)] o
o o o o

w
o
o

250 1

200

600

550 1

w & ~ un
Ul o Ul o
o o o o

counts [ADC]

w
o
o

250 1

200

Run 11544, pixel 0

—— event 1001, HG: RO
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Run 11544, pixel 0

—— event 1005, HG: RO
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+ dt corr + corrected spikes
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